O00I1ogog oo
2010.07.26. DODOODO

[1l000 R=z0O0O S=7z/(15)000000000000000

(1) RODODDODO mO nO000000000me+ny=10
00000 - y00OOOOOODDDODOOOOOOOOOO
ooo0

(2) RODODO (5)000000000000000000 RO
000 (15 000000000000000

(3) RODOODOOODOO (ny) C (n2) C(ng) C---(ng) C -+
0000000000 (ny) =(men)=--- 0000000
oooo0

(4) S0ODDOD0OD0O5Z/(15)0000000000000000

(5) SO00000D0ODODO0O0ODOOOOOO UODODOODOOO
000000000

(6) SODODOOOOOOOOOO

(7) 18428438 +48+...41450 1500000000000

2] 00 R=2Z[z)000 ROODDOOO feROODOD a(f) =
f(V5)0ODOODO0OO0O00O0000000000000000000

(1) «00000000000000000

(2) 0000000

(3) 00 SOO000000000000000O0OO0O0OOOO
000000000000 ROOOOOOOOOOO0OO

(4) ROODODO M=(52)0000000000000000

(5) «(M)0 SOO0O00000000O0O0O000

(3] O

000000000

(1) O

(2) R
R

O
0 RODDDOO «000000000O0DODOOOOO
=Z[z],S =R[z], f(z)=2*—922+12000000 f(x) O
0SO000000000000000



